
Choose the Correct Combination:

Question 1. 
The sun set. The returned home. 
(A) The sun set when they return home. 
(B) The sun set, they returned home when. 
(C) When the sun set, they returned home. 
(D) When the sun set, they return home. 
Answer: 
(C) When the sun set, they returned home.

Question 2. 
Sita is pretty. Meena Is pretty. 
(A) Sita is as pretty as Meena. 
(B) Sita is not pretty as Meena. 
(C) Sita is pretty but Meena is not. 
(D) Sita is more pretty than Meena 
Answer: 
(A) Sita is as pretty as Meena.

Question 3. 
I went there. The office was closed. 
(A) When I went there, the office was closed. 
(B) When I went there that the office was closed. 
(C) When I went there so the office was closed. 
(D) When I went there because the office was closed. 
Answer: 
(A) When I went there, the office was closed.

Question 4. 
The old man is very weak. He cannot walk. 
(A) Tbe old man is to weak to walk. 
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(B) The old man was too weak to walk. 
(C) The old man is too weak to walk. 
(D) The old man is so weak to walk. 
Answer: 
(C) The old man is too weak to walk.

Question 5. 
She finished her dinner. She went for walk. 
(A) She finished her dinner that went for a walk. 
(B) She finished her dinner so to went for a walk. 
(C) She finished her dinner as for a walk. 
(D) She finished her dinner and went for a walk. 
(Ans. 
(D) She finished her dinner and went for a walk.

Question 6. 
He speaks Bhojpun. He speaks English. 
(A) He speaks Bhojpun because he speaks English. 
(B) He speaks both Bhojpuri and English. 
(C) He speaks Bhojpuri but English. 
(D) He speaks Bhojpuri to English. 
Answer: 
(B) He speaks both Bhojpuri and English.

Question 7. 
She has two sons. She has to educate them. 
(A) She has two sons to educated them. 
(B) She has two sons to educate. 
(C) She has two sons when she has to educate them. 
(D) She has two sons why she has to educate them. 
Answer: 
(B) She has two sons to educate.


